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T (5.000kg) | @ s 35 - 17 |HEH = #5974 Vagh 2 |N\% 1 19
FAI%(5.000kg) | 268 | B 232 - 21 |LE @ TEL 450 3 |whEFA 1|20
FAALIE(5.000kg) | 36 | B 221 - 22 |PR @ Fhn5 197 2 |KmE= 1|21
AL (5.000kg) | 3bE | B 209 - 30 | sl Y L 3 |amb 1| 22
fastL#%(5.000kg) | #@ | 2 101 - 25 |5 ithok 1379 VF 2 |BEL 1|23
Fa L% (5.000kg) | @ B 8 - 20 [fRIR EX NHT 1947 2 |3IdpEEh 1 24
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A4 R | Bk | Foas B B4, SR g | EmANEE | | v nggug ?fﬁué
#8845 (1.500kg) | @ £l 234 - 35 |lbhAEk KIHE YYER 44D 3 | KZ@s 1 1
M4 (1.500ke) | @ | B 167 - 9 |@A$ & Fh vy 3 |Ikgh 11 2
MR (1.500ke) | 38 | 2 63 - 4 |EkEEt VI A 2 |@rm 1] 3
F##%(1.500kg) | @ e 126 - 69 |FE HERE 7747 )3 2 |EEBH 1 4
M884%(1.500kg) | #@ | 3 12 - 18 |X®H 3= 7Y/ b 3 |EEF 115
F##%(1.500kg) | @ 5 28 - 37 |EAEE A T 2 | F=xH 1 6
F#84#%(1.500kg) | @ £ 214 - 20 RN iz A9F & 3 |EHE 1 7
I883%(1.500kg) | i@ ] 64 - 4 |B)Il BRI yYh7  Yen 1 |l 1 8
A% (1.500kg) | 58 | 3 35 - 87 &M EX TN XY U398 3 |\ 119
M85#%(1.500kg) | & | B 73 - 11 X BBE =vh7 vk 2 |BRFRF 1|10
38545 (1.500kg) | i@ 5 37 - 30 |/\HFI} LESEM 2 |&mF 1 11
M (1.500ke) | £ | B 85 - 25 |BRA EREB $HEL Y395 09 2 |EEes 1|12
I#3%(1.500kg) | i@ B3 28 - 8 |HA FHLEE Fhh7 A7¥0Y 1 [F=msH 1 13

p— | B | Foas B S iR i | e | | | ZERE | IR
PR HE | B 56 - 46 |2K # 7%k £ ¥ 3 |w# 1] 3 9 5
rEE @ | B 85 - 7 |hHF mE T @ 3 2@+ 1] 4 10 6
rEE e 2565 FE #A Y 194 3 |m#sTFC 15 11 7
PR HE | B 118 - 1 |A = YOEF Yay EEN 1] 6 1 8
rEE e 93 - 6 |XEF A— WAy MF 2 |mesE 1] 7 2 9
PUfE R Hi@ B 15 - 73 |@AN EE VL7 % 3 |EER 1 8 3 10
PR HE | B 237 - 14 |mE BEA st TH 3 |mmsMESR 2 | 3 4 11
POFE I @ £l 113 - 48 |Fl ER avny b 3 |KEZE 2 4 5 1
PUfE R H@ ] 167 - 3 |AEM B2 7N Yy va9 3 |’IBGw 2 5 6 2
P iHE | B 209 - 13 |[nuh AT Y29t X 2| 6 7 3
PUfE s HE B 118 - 22 |4t mE ¥ah7 V) 3[R 2 7 8 4
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fE4 M| Bk | Tk BikERE B4, i R s | FiRARE | M| vy %fﬁué 3%5“5
100m 1F | % 95 65 [IE & WY 1 |fEsiE 1] 1
100m 1F | % 85 83 |HWH %mE T/ 41 1 |'E$ 1] 2
100m 1F | % 211 43 & mE FhY LAF 1 |E@EE= 1] 3
100m 1F | % 63 12 \LF %A N 1 |#&smE 1] 4
100m 1F | % 90 1 |[&F &7 17%h 2/ 1 (w0 1|5
100m 1F | % 6678 BN #9437 17 1 |[EgELss 7 1]6
100m 1F | % 223 5 |BE ok 9ANT EFA 1 |G®sh 1|7
100m 1F | % 222 36 Il EEE Fh 7 34 1 |kskh 18
100m 1F | % 123 1 (A s F3h7 233 1 |mz 1|09
100m 1£ | % 98 41 |wE =P hoa 39 1 |[mEH 2 |1
100m 14 = 8 13 | KRB #WE £y v 1h 1 |SZapgEsR 2 | 2
100m 1£ | % 6683 e —% £41 AFn 1 |[fEgErs>7 2|3
100m 1F | % 91 25 |dhl = R ED 1 (& 2 | 4
100m 1£ | % 222 41 (57 Mk {7z 14 (I PN 2|5
100m 14 8 23 2 |nNE E NIT A 1 |[=EBEE 2| 6
100m 1£ | % 103 28 |&l F% 4=4% )t 1 |E=F4 2 |7
100m 1 | % 234 1 (FHE s {/91 #h 1 |[AdF 2| 8
100m 1£ | % 112 28 |FEIIl =yh7 £ 1 |#ezggd 219
100m 1F | % 50 4 |thEg 4T 1Y THY 1 |s#sscsch 3] 1
100m 14 58 50 2 |TRE ®F AN #%3 1 |REsH+ 3| 2
100m 1F | % 1 13 [k #% ATHI a4 1 (s 3] 3
100m 14 = 112 25 |EI 3 TVHT AR N 1 |#EZEEH 3| 4
100m 14 58 74 1 |Z&E MR TR F HEF 1 (#kil 3|5
100m £ | % 108 21 |&8 FA D3 M 1 |ms 3] 6
100m 1 | % 8459 A i3 ¥ EF /3 1 |s#TFC 3|7
100m 1F | % 222 39 |EM TR Y390 ¥y 47 1 |kskeh 3] 8
100m 1F | % 234 4 |\IhAk == veEb 1 1 [ 309
100m 1£ | % 20 5 |BA1 3 v7 1% 1 |HEEH 4|1
100m 1 | % 77 20 |/INE AR U7 A 1 |Bkkz 4| 2
100m 1£ | % 8769 #)1 =R WA 1 |TFACE#B 413
100m 1F | % 25 T INITIRE S -5 47 by 1 |[BE 4| 4
100m £ | % 88 14 WL B Yoy bt 1 |k& 4| 5
100m 1 | % 113 25 |#it 3z 4403 FIn P S- 4| 6
100m £ | % 15 83 |@4& vFEY AER 7Y 1 |E&A 4| 7
100m £ | % 44 16 |&E =<5 A 497 1 [l 4|8
100m 14 £ 3 9 Bk {EX 4232 H1 1 |3&KE 4 [ 9
100m 2% = 44 14 TR IHE Wr9F AR 2 |/&dk 1 2
100m 2 | % 56 78 |HFE/HE Bz 17 1t 7 2 | W# 113
100m 22 | & 8243 AR T2 EbI Fen 2 |BEETHTI— 1|4
100m 2 | % 6659 B =0 AHEN 9 2 |tExELsT7 1]5
100m 22 | % 8744 TE 03 YEYN thb 2 |FHTFC 1]6
100m 2 | % 16 65 MR fEE N7 73 2 |ABHLTF 1] 7
100m 28 | % 1 36 |HR I IVLx R/ A 2 [ 18
100m 26 | & 103 17 |Z&®E7TE NEY 2 |EFA 119
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MEA | | k| Tk B B A LR i | pimasss | | | ZREBE | SRR
100m 266 | & 234 12 |&x HE A7k kY 2 |A=EEH 2 | 2
100m 22 | & 23 14 |Bil fHF] ViR 2 |RERE 2|3
100m 266 | & 220 14 |Ed #F 439 b3 2 |FF 2 | 4
100m 22 | & 204 6 |22 #HZ £/ 5 2 |BlE= 2|5
100m 260 | & 6658 R B YAth €7 2 |MExELEs/ST 2| 6
100m 22 | & 214 41 | RE & 7 A 2 |=@ 2 | 7
100m 266 | & 75 2 |FF S5F 9/ 3% 2 |RE#H 2 | 8
100m 22 | & 203 9 |EEB HhH ISZE NN 2 Bz 2|9
100m 26 | & 74 15 |8RE XF A4 va3 2 Bkl 3] 2
100m 2 | & 231 26 |HR E1E £7 U0 2 |#ERS 313
100m 25 58 207 6 |BIH ZE4 IX A% 2 |BEEs 3| 4
100m 26 | & 24 16 &M #x Vi MY 2 |hmH 315
100m 2% | & 220 12 |Bg Fx 174 +7 2 |FF 316
100m 2 | & 35 60 |5 Th&E 13+ FH% 2 |N& 307
100m 26 | & 234 11 [[g 2&F BIN Uvh 2 |A=EH 3] 8
100m 2 | & 214 44 |FHE TBE W/ 2 |HE 319
100m 260 | & 8416 N X937 b7 2 |23%40357 4| 2
100m 22 | & 217 2 |t EAfn A4 E1h 2 |EHkE 4| 3
100m 260 | & 225 8 |5 &M A3 N 2 |FHEHR 4 | 4
100m 2 | & 15 af FE 14 7 2 2 |EEA 4|5
100m 26 | & 235 14 |WFE RTpE Y¥Ah K79 2 |EEEHR 41 6
100m 2 | & 204 11 [F# Bl €59y Y3 2 |BLE= 4| 7
100m 266 | & 232 41 |55 ¥ 251y ) 2 |IfEETHE 4| 8
100m 2 | % 91 15 [#f R /% AR+ 2 | 419
100m 28 | & 115 44 |hE KREF 5/ 207 2 |t&#EH 5| 2
100m 2 | & 10 5 |%H FRR YN 4wt 2 |Ex 513
100m 2 | & 95 47 |RE = K54 Al 2 |FERE 5| 4
100m 29 | & 211 2 |\ Rig 19k 2 | REE= 515
100m 2 | & 8271 Rk T LANYY AF/ | 2 |[BETHTI-— 51 6
100m 2 | & 72 3 |FZE R )4 £43 2 |EEH 5 (7
100m 26 | & 56 80 |tk v EWY IN Y kY 2 | 5|8
100m 2 | & 90 34 |BE HF 7Y Eh Y 2k 2 |#)l 519
100m 26 | & 8768 R EF SVZVIREY. 2 |TFACH# 6 | 2
100m 2 | & 56 2 |BE —%E 970 DX N 2 | 6 | 3
100m 25 =z 203 6 |HH E=Z ma 7 2 |BlE= 6 | 4
100m 266 | & 28 27 |®E BiE £h9 74 2 |F=m+ 6| 5
100m 260 | & 64 62 |[Fm E=B 1hy 7 2 |IEi 6 | 6
100m 22 | & 2 26 |mET XEB INELARD! 2 |BE* 6 | 7
100m 25 = 44 12 |XE &E 7Y/ hA 2 [&deHh 6| 8
100m 22 | & 20 3 |FAE OB 772 t14 2 |EBEH 6| 9
100m 26 | & 231 21 |mE &N 293 79 2 |tERES 712
100m 2 | & 23 12 |kE & SZEY) 2 | SEE 713
100m 26 | & 43 41 | B3 Y% 14 2 |BFb 7|4
100m 2 | & 108 16 |s0E #E# I8 E 2 |Hk 715
100m 26 | & 113 6 | D FOLT U 2 |k 716
100m 2% | & 15 15 |[MWFH EH4 2SS 2 |AE 707
100m 26 | & 41 12 |2 BF w7/ 3t 2 | TE8 718

~26-




A4 MRl | Sk | Fos B Bt 4 iZER e | PURAMEE | A |1 %ﬁtﬁﬁ;@ 3;‘}5“5
100m 3F @ 8 - 8 |HF BER 2Fh 77 3 |IzApEEs 1 2
100m 3E | & 91 - 43 |=fk Y X F 3 |l 1] 3
100m 3E | & 1 - 24 |EmE BE WYy AN 3 |=#rES 1] 4
100m 3% ey 205 - 19 |Fwm 0Tt k7t /8 3 |REAFEZH 1 5
100m 3F @ 99 - 52 |TFik BATEE vih ThY 3 |/EEME 1 6
100m 3% ey 112 - 11 |52 % 1747 7% 3 |MEEEESP 1 7
100m 3F Z 41 - 44 |[{FEE ARE VAN 3 | T 2 2
100m 3% ko3 204 - 1 |giE ZE4 LY/ #% 3 |BLE= 2 3
100m 3F oy 149 - 12 |l #EfE FHYv EAD 3 |FEEH 2 4
100m 3% ko8 71 - 22 |EBH EZ kn/ vy 3 |m#EBAEH 2 5
100m 3F Z 84 - 42 |RAE B A8 vty 3 | KE 2 6
100m 3% ko8 235 - 7 Bk = YA 31 3 [E=EEEH 2 7
100m 3FE @ 90 - 25 A BuLi YEyn W+ 3 |41 3 2
100m 3% ks 234 - 18 |BR = 7797 33 3 |AEmF 3] 3
100m 3F % 37 - 55 |FRIE MK fUVERZ] 3 |[&Edh 3 4
100m 3% <y 8674 i ok My /3 3 |TFACE#B 3 5
100m 3F Z 95 - 37 |FE B 247 74 3 |AmE® 3 6
100m 3F Z 16 - 43 |tk Hm=E VIV 3 |EERLTF 3 7

WAL | | k| Tk B B, Fe3% e | pimasss | | | ZREBE | SRR
200m @ E:3 100 - 18 [FR @O iy a7 1 |[E&EXS 1 2
200m HiE oy 214 - 15 | E&H =YL WU 3 |EE 1 3
200m HiE £ 207 - R D EES YINT 1t/ 2 |k 1 4
200m HiE oy 113 - 1 [EBER &% 4L7 ¥7F 2 |KE 1 5
200m HiE £ 73 - 22 |AA E4E AV F13 2 | 1 6
200m HE | % 1 - 8 |xm &® Wt 2 |m#mrEs 1] 7
200m HiE £ 88 - 56 [HAAHA OFE Fv4 133 2 | K& 1 8
200m HE | % 204 - 7 |24 =7 #r7 39 2 |BuB= 1] 9
200m ®E | % 55 - 21 |aR B 75 A% 3 2 |pm 2 | 2
200m i@ g 235 - 9 |t #BTE wEN F/n 3 |[EEEH 2 3
200m i@ E:4 23 - 5 |=% BE NI 3 | REAEE 2 4
200m i@ oy 113 - 18 | ERE AFN F H7% 3 |ARE 2 5}
200m i@ 8 110 - 13 |tH &= IFE w4 1 |[HEZF 2 6
200m HiE kg 100 - 16 |&F R W5 47 2 |FmEXS 2 7
200m #E | % 98 - 43 |mR ©W aF 7%F 1 |[RE+ 2 | 8
200m HiE oy 101 - 13 |8 B AUV 3 |BsLA 2 9
200m i@ £ 16 - 67 LA #= R/ S 2 |EERLTF 3 2
200m HiE Z 1 - 32 [RR Hi4ZE AT/NZ7 aaF 2 |hEl 3 3
200m i@ £ 214 - 50 |AH #¥¥ Z vk 2 |EEHE 3 4
200m HiE Z 91 - 6 |EiIl ERIEK vIiny 3y 2 |#) 3 5
200m Hid | % 110 - 5 |k H4k They  +13 2 |@iBF 316
200m i@ Z 84 - 43 |fE =&H %7 2 3 |KRE 3 7
200m i@ 58 15 - K Fic) == ZYF nvf 2 |EEH 3 8
200m HiE oy 231 - 20 |iBEH K #h4 14 2 |t5EASD 3 9
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A4 Rl | B& F— 24 e HEE 4 AR SPAE BRI M| vy zgf}sué ng%sué
800m #E | % 50 - 3 |BR BF VL 1 |5 1] 1
800m HE | & 91 - 8 |KXEH ¥ L 3an 2 (N 1] 2
800m HE | % 213 - 2 |FiR KRB N 2 |BENA 113
800m HE | & 58 - 8 |HRWE 9% a9 2 |fEl 1 4
800m HE | % 218 - 11 |fEE R 1++h 3 |G 115
800m HE | & 13 - 30 |KFoE £/ 11% 3 |=% 116
800m HE | % 85 45 |fFE MR 27 14Y 3 |BE 1 7
800m HE | & 56 - 63 |E#E *E== kot 37 2 [WL® 1 8
800m HE | % 3 - 4 |duEESs $497 bk 3 |&E 119
800m HE| % 110 2 |BEE £F JY bR 2 |maz 1110
800m HE | & 232 - 25 |HmER E® 4517 7% 3 |Z@EEFA 1|1
800m H#@ | & 1 - 23 |®RE 4T Lk FF2 3 |l 1] 12
800m #E | & 100 - 17 |HA =i 1Eh T4 1 |ABX 1] 13
800m HE | & 106 - 6 |LE& BB YYER MY 3 |EFA 1114
800m HE | % 207 - 4 |0 BE 227" F Ut 2 |FELRG 1] 15
800m HE| % 41 - 9 |RK Ex EEVI I 2 | T 2 |1
800m HE | % 103 - 15 (ks EE el £ 2% 2 |EFAE 2| 2
800m HE| % 1 - 12 &8 &E=F A A k=i 1 |p 2| 3
800m HE | % 37 - 51 |[EREWF e Y95 34h 3 |i&E 2 | 4
800m HE| % 231 - 12 |FH #HE= VLN 3 |REER 2|5
800m HE | % 232 - 8 A EHEHEA v F Ak 1 |i@EEFiA 2| 6
800m HE| % 100 - 6 |&AMA &Eift 1Y% 79h 3 |BBX 2 |7
800m #E | % 211 - 7 |8k BH&R P vE 2 |REE= 2| 8
800m HE| % 101 - 25 (%@ E7F YN 83y 2 |BsL 219
800m HE | & 22 - 13 (HII B'BED TWhT 1%/ 2 |ERHE 2 | 10
800m HE | & 15 - 14 |#h AIm=E Wy 2 |RE® 2 |11
800m HE | % 28 - 31 [#II #Ek IER 2 |FT=® 2 | 12
800m HE| % 93 - 1 |RAIBA NN Iy 2 |AEFE 2 |13
800m HE | % 113 - 30 (AN #F =Yh7 nFa 1 |A&= 2 | 14
800m @ | % 217 - 11 KA LB $47 133 3 |EBHE 2 | 15
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A4 | M| Bk | Foas | BEES BHEH A, R | pmaems | |- | ZERE | AR
1500m 1% z 222 - 38 |/ IBTE IN ¥y LD 1| KBk 1 1
1500m 14 z 106 - 31 |k M 9% p17 1 |AEFA 1 2
1500m 1% z 16 - 74 |BR BX A7 bF 1 |R&EtZF 1 3
1500m 1F | = 4 5 |mm mE 15 o7 L [phl 1|4
1500m 1% z 85 - 8l |FM X 7740 hLY 1 |BR 1 5
1500m 14 z 90 - 4 [ibFx &M TEh 19 1| 1 6
1500m 15 | & 1 - 13 |hE RS REET 1 |maekE L7
1500m 14 z 110 23 |t HFR 9+ M 1 [EZ 1 8
1500m 1% z 4 - T (AR EMETR VIS 1 Bk 1 9
1500m 1% =S 231 - 4 |[FH BXR E7n vy oA 1 |#BER 1110
1500m 1% z 28 - 2 |BAAH nyEh of 1 |T= 1|11
1500m 1% =S 204 - 16 Kt #E ¥47 1% 1 |BlE= 1] 12
1500m 1% z 71 - 14 | :H O NAasy 1 |sbeE 1113
1500m 14 z 113 - 29 (fiL =W ACEZY) 1 |R=Z 1] 14
1500m 1% z 2 - 7 |H B’ thh' T Ak 1 | 1115
1500m 1% =S 110 16 [FE  #ABk RIS 1 |EZ 1116

WA | | k| Tk BT B, Fo3% i | pimasss | | | 2B | SRR
1500m 23%F | & 306 - 1 |#E"” RAE JY8= Hn 3 |EE 1 1
1500m 23%F | & 73 - 45 (Al KK 14 % 39 3 |B&#& 1 2
1500m 23%F | & 13 - 1 |fAx=E VR 74 2 |=% 1 3
1500m 23F | X 110 - 24 |AE &% Hbto )/ 3 |@EZ 1 4
1500m 23%F | & 204 - 8 |Ra ER h4ZTIY 2 |BLE= 1 5
1500m 23F | X 73 - 27 [BEH A ¥d 2 |BEF& 1 6
1500m 23%F | & 23 - 20 (@A OFE FhER 333 S 1|7
1500m 23F | X 214 - 40 & = IR 2 |=E 1 8
1500m 23%F | & 24 - 20 |9K AEE KIVERN 2 |Hh=R 1 9
1500m 23F | X 100 - 8 [EREB EATE 75N YUk 3 |AEBEX 1110
1500m 23%F | & 73 - 31 (BE X W7E I 2 |BEA& 1|11
1500m BF | % 85_- 70 LT ®=% YA 2 |ER 1|12
1500m 23%F | & 12 - 5 |BN &nY 1747 ThY) 3 |EX 11|13
1500m 23F | X 105 - 4 |sE%R 197 15Y 2 |Fa 11|14
1500m 23%F | & 234 - 20 |RE HE 1958 94h 3 |ANEE 11|15
1500m 23F | X 23 - 10 (Hf MEX Sh 30t 2 |REBEE 11|16
1500m 23%F | & 73 - 28 (Mo EIKAE hy w4h 2 |BEER 1|17
1500m 23F | X 227 - 15 (@A =5 79=v 4 3 |REEBEZ 1118
1500m 23%F | & 30 - 18 |f HME = 7Y 2 | KR 1119
1500m 23%F | & 235 - 12 (O @& hR7F TYR 2 |HBE 1120
1500m 23%F | & 234 - 24 |5 HE 134 12" % 3 |KEm 1|21
1500m 23F | X 85 - 66 |BEA BHH 7T IS 2 'R 1|22
1500m 23%F | & 73 - 30 (A BAY avtE ThY 2 |BER& 1123
1500m 23%F | & 204 - 9 |HE KB ¥4 THY) 2 |BE= 1|24
1500m 23%F | & 204 - 15 |BAS EE /L7 nvF 2 |BlE= 11|25
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MRS || Bk | Tk | BEES BeH 4 K3 i | pimasss | | | ZREBE | SRR
3000m Hi@ = 85 43 | KH =¥ 154 39 3 |BR 1 1
3000m Hi@ 8 23 - 4 | ZILAFE—FEH & VREF-N-E2- 3 | mEEE 1 2
3000m @ = 71 - 20 | KT ¥=m }/y8 41 3 |REE 1 3
3000m *E | % 234 - 21 |RXM BERRE TAF HYF 3 |AEmE 11| 4
3000m HiB = 217 - 14 |KiEx = LEV/ARY 3 |EEE 1 5
3000m Hi@ 8 771 - 9 |ITEE £=B Iby 713 2 |RERAE 1 6
3000m @ = 216 - 8 |Em EZ VAT VIR 2 |KE 1 7
3000m *E | % 71 - 25 |RE EAE LYAREDT 3 |FERICE 118
3000m @ 5 8675 NH & INZIRVVS 3 |TFACE#D 1 9
3000m *E | % 1 - 17 |MF EE ¥4 1 | Rz 1110
3000m @ 58 216 - 18 [ZEE EE& /oS 3 | KME 1 11
3000m *E | % 234 - 25 |ZH ER 25 TYF 3 |AEmE 112
3000m paSti] 58 58 - 7 |MbE v ) T 2 |fEl 1 13
3000m Hi@ 8 8 - Al AR Hun 407 977 3 |[®= 1| 14
3000m HiB = 23 - 6 R BRI A2 44 3 |REE 1] 15
3000m Hi@ 8 167 - 33 |@&F BN 774 M 2 |’Ikm 1 16
3000m Hi@ 8 204 - 5 |HF KB4 A ) 2 |BlE= 1 17

fiH 4 Rl | Bk F— b4 Gk B 4 SZZEN B8 B 20 M| Vv ?%;E ?ﬁ%&
100mMH(76.2cm 80m) | 38 | & 56 - 42 @A 1&T 41/ 2 |KEEH 1 2
100mMH(76.2cm 80m) | 38 | & 222 - 26 |&EH EW DEAEV 2 |BsLd 1 3
100mMH(76.2cm 80m) | 38 | %& 115 - 21 |4H#H ®W2E Fh4 #/h 3 | mEBFES 1 4
100mMH(76.2cm 80m) | 358 | & 101 - 1 |RA) MR N 7 AR 2 |=#EE 1 5
100mMH(76.2cm 80m) | 5@ | & 204 - 5 (Bl M 7Y %v pI7 2 |BiliE 1] 6
100mMH(76.2cm 80m) | 38 | & 71 - 3 |BE TE a4 57 2 |k 1 7
100mMH(76.2cm 8.0m) | #3& | % 108 - 7 |[h®y = th) A3 3 |déafEd 118
100mMH(76.2cm 8.0m) | 358 | & 115 - 70 |FKE (Zoh N 97 5/ 2 |L® 2| 2
100mMH(76.2cm 80m) | 58 | & 207 - 10 (AL 2= =Yv hYy 3 |=E 2 3
100mMH(76.2cm 8.0m) | 358 | & 113 - 34 |BEE BE kot v+ 2 |RBH 2| 4
100mMH(76.2cm_80m) | 5& | % 113 - 20 (hEa #HE =Y 4Fh 1 |[fEZES 2|5
100mMH(76.2cm 80m) | 358 | & 71 - 6 |FH #%H= NA AR % 2 |m#ESEF 2] 6
100mMH(76.2cm 80m) | 358 | % 88 - 24 |BAE R 25E 1Y 1 [A&=Z 2 |7
100mMH(76.2cm 80m) | 38 | & 64 - 23 [N =4IE INESY 1 [3iB5 2 8
100mMH(76.20m 80m) | FEiB | & 8 - 61 |[MENE 43N 3ty 2 |&mEH 3] 2
100mMH(76.2cm 80m) | 358 | & 71 - 49 |k EE IN Yy 319 2 |x= 3| 3
100mMH(76.2cm 80m) | 38 | & 50 - 20 |[d@E 2 Fhzy MY 3 | KE 3 4
100mMH(76.2cm 80m) | 58 | & 226 - 11 |E= Xb5 9ISy 7Y 1 |REBEF 315
100mMH(762cm 80m) | 3 | % 214 - 2 |@m A& Tha 3 |BLE= 316
100mMH(76.2cm_8.0m) | 3@ % 37 - 75 |[HI K IWAT A 2 |l 3 7
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A4 F— L% e HEE 4 AR AR T I 44 W A | v
100m N 35 51 |FE FEB 1791 h¥ 3 A% 1] 2
35 52 [0 ERfE 1 F K 3 N 1] 2
35 57 |ILTF &L Az 3 |NA% 1] 2
35 60 |57 F#E A3Fh 7 2 |N& 1] 2
100m H@ PNpY 222 33 |RE FW THF Y 2 | KB 1] 3
222 34 |FEHE EBHR knt vF 2 | KA 113
222 36 (Il EHEE Fhh 7 34 1 |ARAke 1] 3
222 38 |k BTE N Y bAh 1 | KB 113
222 39 |FEM HE yagn ¥y +7 1 |ARAke 1] 3
222 41 |57 Ik 1=y 14 1 | KRB 1 3
100m TADERIR 113 18 | FRE 23N F §57 3 |FERRIK 1] 4
37 55 |#RIE 3K B v 3 |REBEIR 1] 4
205 19 |¥Fx Ot k5Eh /0 3 |mEBEE 1] 4
71 22 |E®H = kn/ vy 3 | REGER 1 4
71 24 |EEE BE Y995 TAN 3 |mEBEE 1] 4
149 12 (gl #RTE #Hrv bah 3 | REGEKR 1] 4
100m H@ AR EE 71 11 | k= KB 9I3% 7YY 1 |mabtESH 115
71 15 |#B4& =M NER 37 1 |mEBAER 115
71 21 |HH BEFE Fh /% 3 |mEBHEES 115
71 23 |#T B /1 14 3 |m#BHES 1|5
71 BHE #HhE NIEAR R 2 |FEBAEF 115
71 ZH 25 Y24 bt 2 |m#BHEH 115
100m 5 15 15 |#M#F =H4 4 32X 2 |REA 1] 6
15 3[R B =t nvt 2 |RAEL 1 6
15 8 |BH #HF= 2NN 2 |REA 1] 6
15 83 |AA VEVY FHER EXY 1 |R&EH 116
100m $iE HFER 103 13 [l B B £ 2 |EFAE 1] 7
103 15 [k EF AELAE Y 2 |EFA 1 7
103 17 |Z8®ED1E RV 2 |EFHE 1] 7
103 28 |& FI fzye ) 1 |EFA 1 7
100m T8 41 1 [ZH aIE Tz 1 |88 1] 8
41 10 |®#W RE aF TR 2 | 1] 8
41 11 |thep ERF 1rfh 733 2 | T8 1] 8
41 12 |1BEH BE /) I 2 | 1] 8
41 4 |tk E wyy by 1 |[TH 1] 8
41 9 |KKN Ex 97 AR 2 | 1] 8
100m H@ TR 28 26 Bl BEXE EVIE 2 2 |Fxh 119
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